CALCULUS 12

PRACTICE QUESTIONS

for
'FIA{A L

Frances Kelsey School



Part I — Multiple-Choice Problems

Instructions: Write the letter corresponding to each of your answers in the blank box that
is provided. Correct answers do not require work to receive full credit. However, partial
credit can be awarded for incorrect answers based on the work that is shown in the adjacent
blank spaces. Hence, you are strongly advised to show your work for each problem.

=my+b
(1) [10 points] Determine which of the following is an g()quation of the tangent line to the
curve y = /z at the point (9, 3). A
(A) y=6x —51. 9'21
(B) y = 3z + 24. - - A
1 3 T '?J-— Z\r— 6
(C)y=2z+.
6 2 - L ) |
(D) Ve 9 g 3-é(q *o
y=—% "5 =7
2 e -3 o oa-ty43
b"’ /2 . d - 6 1 + Z»
Answer:
Fs w5 dy
(2) [10 points] If 2%y + zy* = 3z, then o is
2 + xy? 2 ! ; 2
(A) —5— X<j +2x7 X2y ty* = 3
3 — 2zy — y°

®) —rom Xy+b7 5=Zrg-4"
(C) 2z%y +y2

(D) 223 9 (X -{—Z><7 3- 2xy 2

2?24+ s

———

Xrevy —><2+2=<°/

Answer:




Y |
(A) 2 ) égf /p "é?g o ! 2 lcaf)S;t
(B) 0 = Gs!'7] = -(os (0
(©) ==+ (D)
(D) %ﬂ 1T+ 1 =242
Answer:

(4) [10 points| Evaluate lim 1_%;(4:8).
(A) 8
(B) 4
(©) 2
(D) 1.

Answer: | 4%
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(5) [10 points] Evaluate / x*-1dzx.

(A) —g ‘éxz— v
2
(B) 0
o2 [$00-0)] - [46F -]
D) 3 “ 5
Answer:

£ s
(6) [10 points] Find the largest open interval on which f(z) = ze® is concave upward.

A) (0 : : . . , |
((B; E ’fO)) P )= zere IP f'(x)=xe+ € +e*
—1,00). ) . N
(©) (~2,00) Fi=e™(x+1) f6)- xe*r2e
(D) (—o0,00). i; e™(xtr) f”&),— ﬂx(x-{—z)
p ::/ X+l =0 _ X ,
Answer: ;” - O e - O~ € (X’f) )
C. p: (")’0~“’)\/ J.P: ( ‘2} —0‘3)
ad = Lt Xx- CCW'Cmn'Lg Test 1y
‘9 A >4 et X=0 e-l(_H_z) -+ \V |
Ej': O’Co
J/\/d' =0 / )()n‘( =0 p
g -1 _
A|S° C,,‘ “_““'H'{"Wimw =1 ——— ——— X
exporentiat] ~
([unc"im = _ e
&~ KA yo (—Z) m) :

- -1



(7) [10 points] Determine which of the following equals / zvVz?+1 de.

(A) LR+ 1%+ u=x "+
i) Jw = 2x dx
(B) 5(a*+ 1) +e. dx = g«
1 2x
(C) §:B2(x2+1)3/2+c. ,
1 2 3/2 /X‘L ¢ é“—
(D) 5(35 +1)32 +c. E;
Answer: ;ﬂ | y
zfﬂ
v
2, %
2B

(8) [L0 points] Let f and g be differentiable functions defined on (—oco, 0c0). Suppose we
have the following table of values for f, g, f' and ¢'.

x 0|1 2 3 4 | 5
flz) | -7/30| 4 |—-10| 8| 6
glz) | 14 | 7 | =11 2 |36] 12
fixy || 1 |—4| 5 0 (30| 8
g(z) | 18 | -3 | 24 4 |6 | -2
Using this table, find the value of (f o g)’ (,ﬂ )f —
(A) —20. (Chn @

o £Go0- 509
(D) 32. f(g(%)jfﬁé)
Answer: | f (2) : j’[a)

g . 4 -2

D




G

S LMD

_JO-/L
(9) [10 points| Determine which of the following equals / z? In(x ) dg:

1 1 e lnx V=33
(A) et ln(e) - Lot e - In 3

X 9 0‘,(/1 = L 0’(‘(: X 2
(B) %963 In(z) — -é—x3 +e x

1 1 ~L 3’ L2
(C) §m3 In(z) — §:c2 +e. ZX (hX =— 2 x 1V

1 1 e — _( 2
(D) 3#°Infe) = ga* +e. af x Ax
Answer: ’ -3 ; gX

4
3)<3/m< -’qL)a% + C

4
1
(10) [10 points] Determine the value of the definite integral / de

(A) oo.

(B) 4. /Y

(C) 5. 4
(D) 3 255 |

A :
nswer 2\/—; ) ZJ’;
4 -0 = L,L

(11) [10 points] If the volume V of a cube is decreasing at the rate of 24 in®/sec, then find
the rate at which the length of a side of the cube is decreasing when V = 8 in®.

2 3

(A) 1 in/sec. | : 2 - =2
(B) 2 in/sec. LI_, o \/: L fg \/L/Z :
(C) 3 in/sec. - GLV - 3 L” 3{!_,
(D) 4 in/sec. dW dt At

de %

. ¢ 24 = 3(2) 2t

Answer: _5,),[' _ 7 af V-3 A€

at

24 .
) = 7 5 - 2 ;A/§¢,¢
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(12) [10 points] Let s(t) be the function of a mouse moving along the z-axis.
Let v(t) and a(t) be its velocity and acceleration functions respectively. If

a(t) =2+4e*, v(0)=1 and s(0)=4,

determine which of the following expressions describes s(t).

EA; o vit)= 2¢ + 2% 31

B) 2 + e N 24

(C) 2482 — 3¢ — 4. 5((‘) =t 4e "+t 1Y
(D) 2 +e* +t+4.

I
Answer:

v

L ]




(13) [10 points|The figure below shows part of the graph of a function f.

FEC I VR RN R ]

AW

o7 8 9Yoi111314

Using this figure, determine which of the following statements about f is false.

(A) 91613(1) f(z) exists.

(B) fis discontinuous at 2.

(C) It is continuous at 4.

(D) lim f(=) exists. => falce becaunce hm_~fzd:,4’
x27 ,_

Answer: [{em f(k): 3 /IJI
»x>7"

(14) [ 10 points] Gven s(¢) = 2£3— 3£ + 1. Find the total distance traveled after 4 seconds.

V'E—Z:/éﬁ:é;"wf xint 1o break 0119
6t (£-1) ﬁ!
(A) 67 0 ) ;\ 1/{_.- |
B) 68 — o\ A
©) 32 |
(D) 16 , | ’
Answer: ill /V(é) ’ + /V(é)
0 '




" T
"= 0O )
00{‘?/.-_,_..-

(15) [10 points] An inflection point of the function f(z) = 2z° — 922 — 24z — 101is

(A) 1.
(B) 15 Fl)=£x"-18x - 2¢
(C) 3.
Y44

(D) 4 1) 121§ =0
Answer: ; ]2 ¥ = —(— &

- T2 (2>

2 o 15



(16) [10 points| Find the indefinite integral / 3COS(ln(.’Ii))d$ for z > 0.
(A) 3sin(in(z)) +C
(B) 3cos(In(z)) + C. $=- {“ X
(C) 3sec(ln(z))+C M - —ZL AX
D) 3tan(l C
(D) 3tan(in(z)) + dx o xdu

Answer:

/5__@__,;‘ 2y

3[1&95 U de

3Sin U
3 Siallnx) +¢
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Part 1T — Show-Your-Work Problems

Instructions: Show all necessary work, and provide full justification for each answer. Circle
your final answer(s).

(1) [30 points] If f(z) = _# then f'(z) = 4‘” nd f"(z) = SL;l_S

7 )

(a) Find the open intervals where f is increasing and where f is decreasing.

[ T~ 1
_”:]_C;__ Dec___ﬁ__ VA! X=o0 / }A +/
(—60;0) |I (O 1.5 ' 1) I M i )
(?'s w) ‘ J > ‘][[2(): 4)( '6 = b 'L/ : L ’:; i
77 ( X= z or Y1) :’ _—)— - l((z)-b
G (- -] O ()’
(b) Find the open intervals where f is concave upward and where f is concave down-
ward. o
£ .
i+ N { ‘
o 17 Fad I.z \_+/ ( \{ LM
~8x+i& o ‘ ¢
i - ﬂ - q’ 0{ : 1@) ) (%
Cm,0) (W -5 & .
15
(D Y ) 2,25 “3()HE , Z

A o e

QUM
(¢) Find all local minima and local maxima for f if they exist.

2

e
Z, 3 ) =%

/
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(2) [30 points| Find the value of the constant & for which the following piecewise-defined
function is continuous everywhere. For the resulting function determine where the

function is not differentiable. Justify your answers.

. ] T+ ki x <2
$ f(””)_{18+lm if 7> 2.
i
T(2) +K = 184 2k
: = \& ¥ 2k
v”r}.ﬂu‘ Pq tﬁk T
-4 = K
'n“ 71-4
1§+ -HX

(3) [30 points] An open top box is to be made by cutting small identical squares from the
corners of a 12 x 12 inch sheet of tin and bending up the remaining sides. How large
should the squares cut from the corners be to make the box hold as much as possible

(maximum volume)?

X X ST
>
!

! S It!f 1Z2-2x

—_
e vz X ( tZ'Z-)f)((z'Z",

V= th‘ Lkaz-thlfx
v/ 12 - Tex 14U

\'L( xZ-§etre) =2
(x-¢) (-2)
X_:;_-;z; X=2

]

Catont X? Z
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B T

-3 t1
0% % ~8(o) ¢
(4) [ 3 points ] Determine the area between the curves y=x?-3and y=-8x>+1.
% w3 = ~&° +)
f*gxz»fl - (X2'3) dx ax® = 4

a

&
i . ey
7 I3 x=1 £

%
3y’ ff‘})‘)v% /4;// |
[sse()] - [ 5@14 - a8
NE”

(5) [30 points] Change the given rectangular equation into an equivalent polar equation.

2ey= 81 r= & tanx Cof x

r= 4L

.= iﬁ_.r
-
< ro= 4y
:
' Xzf—gg'—: L/‘?
S x 4197 -ty = O
X2 (9-2) =4
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